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FooF: 7550 41

XK A 2 G F TR, £ TP AR S kK

=)=

§l. ARl AT 4-2
82. FAIFNEFRILIT 4-23

el

== RLAsLE R R — %E‘[f:[g,l =1 [iﬁlg‘g\ﬂ ﬁ E;Jm EAfR A L IR [,@aﬁgjr
SIS 2 A S fORERR, PRI T i AR T DRI 1

oY AEREFORLE G R A IR SR e PRI e EH A
Burton)kL |5 2 = EA(ER4); FFU()Hoffman) L] 5|24 pORg S ER(EET @
@E®) * T, FJF[]‘FFUIL [IORE~ 5 T o F FOCNOble)RLA [ =S (2B 1 1) ™
=Y iﬁ@%&%fﬁl tH =5 &@Frmpjﬁggjﬁjﬁ@ﬁi}jgﬂ@?%, gyﬁ%g@ﬁiggq\yxg@f,’m%
HEPEN TGS [ UL RESETRIUSS H AR, [ = (oAb (R = RSN, [N ?'ﬁﬁvﬁ}%ﬁ
IS AERREVGELE, DIRREE 2 T SR pum g S5 45 2 3, ¢§{Tﬂlﬁf?’%ﬁﬁ¥?ﬂ¥
Elfiﬁfﬁm(?gil@ i f7]12).

B BV RIRL RN T, T AR A P, 2 S Cramer's rule PUET RSB S 1
VS EV I g A g I R SR T
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§1. A

B oas (o) I Al =

@ﬁ = {120} n=2, FGEXGfO- B S PR X, -

L7 (permutation)(FY F EL £ £2).
@F)?P" FXEIGORREITTS 06 558 KD En 1 1 5LE$ 43 (symmetric
group on n symbols).
1 2 .. n
Do S, H o o
o(l) o(2)...o(n)
@EFPH]lo € Bn. F1ij EXn LG S o(D)>0()), MG HhLofy—
i B (inversion).

®EHH o, of I f B (sign) LAY
L, AR
L, R B
sgn(o) = 1ol g £ 5 sgn(c)——lEJJ“ ok #7.

sgn(o)= {

(i@t (DBnf3Fpm il =k, H i PHIL FHPRIIE i

o(/)-o()
>|<(2)sgn6 - H —
i<j J—1

(3)F*!(c (1,0 (2),..., © (n) JFEZHHF [ ESiE HARRIY (1,2,.. ,n)F%:ﬁ SEas
%ﬂé@ﬂ[ ”E 157, Hllsgno =1; ¥, EJF? VB, Hllsgne =—1.
T Il E”*]E&ﬁi FrS 3‘15‘1+T3ﬁ‘??"§'\7ﬁ = T Ifls IE' [ﬁli(Parlt}’)”ﬂ'[fl

B &5 (ksgne 2 )

1 2 3 4 5
¥} o= [ ] €5 , fsgno.
3 5 4 1 2
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) o()-o()
K [##1] sgns = [ ———

YRR EATE
) ) (2] 2

= -1. (FPRUY=5957)

Uife2] sl (] FIes a2 B

1 1=c4)
2 2=0c(5)
3 3=c(1) e R R it
4 4=0c(3)
5 5=c(2)

FEE N ]
(1: 4)3 (2’ 4)9 (3: 4)3 (2, 3): (1: 5)7 (39 5): (23 S)il\ - ;T\E'

. sgno=-1

(23] GERIRD]I9E)

Fl l%l%%ﬁ 23 5 4 1 2
1 5 4 3 2
1 2 4 3 5
1 2 3 4 5
HAES VE,

osgno = -1 RFEETTHECE PR,

2.1
EHhY IJ PRI g
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FEAL D A MM Nk

1 2 3 4 5 1 2 3 4 5 6
(a) o= [ ] (b) 0=
2 4 5 1 32 41 6 5
1 2 3 4 5 6 7
oo | |
7 6 5 4 3 2 1

Ans: (a)l (b)-1 (c)-1

??@2.2 (% 875¥E([6])
How many inversions of the sequence 1,3,4,7,8,2,6,9,5 are there ?
Ans: iL?J 107= 31 52 (2,6), (3,6), (4,6), (5,6),
4,9), (4,7), (7,9), (5,7), (5,9), (8,9)

7l (3% sgn)
BN VAT 2RI, R T R
(i) g™

(o(1),5(2),0(3)) | sgno
12 3 1
1 3 2 -1
2 1 3 -1
2 3 1 1
31 2 1
32 1 -1

3.
FOTCQRa [FOATE R, R TE R

& (F7134)
OFH A= ay ], EZAPY 7 71 3 (determinant) [ ™ :



~A

E s ST

ann aip ... Aln
azy dadxy ... (252
det4d = == Z (sgn g )a15(1) a26(2) --- Ano(n)
....................... IS
anl an2 ..... ann
an an Ain
azy an aon
sy — — _
@j:‘j- a,= , A= s eeee s @n = s
anl an2 Ann
ainn a2 ... A1n
Spe=x —
Thdet(ay, ar,..., an )=det |
anl anz ...... ann

@%E ay=[anan...an], @x=[an an..an], ..., @=[ an a2 ... @ ],

ERdet(ay, ay, ..., ay)=det | oo

[EFk] (1) detd= X (sgno) n]_[ Qis(i)

ceQn i=1
(BB I R, dethLWHIRA@E O H B fEREe, ]
det: R""—R

(3)Enflat 5 [ & JF;I , dethlnfy B LT H I FRE, ]
dett R™'xR™'x ... xR™ —— R
P
(DEfn [ E JF;' , dethL“n[p EIRBECIV BT R, A

4-5



det:Rlxn XRIXH x . XRIXH ; R

Y

nfjlﬁl%
= N 7 rags It —
(S) R E Pkl AT
(6) -
ai an
det =daj1a2—a12a21
azy an
an ain as
det | a1 axn  ax | =anaxas;tanaxaztaisanasn
asy asn ass —a11423Aa32—A12021433—A 13022031
ain an aps a4
, ary an ans ary
(£l det

asy asn ass asq4

as asn ass as4

T ﬂ: BUY 011022033044+012023034041F013024042031 014043032021
—a110420a33024—A2021043034—A13032031044—A1402303204]
(R 41=240, ) £ 5 75 0T P13 550 4T )
[ S B O R R
a b
(7 p LA (!

C

a b
= ad-bc [ IfL— ([

C

) FIE I~ A, B, 26
DICENE)

Y41



~A

SR 70

PR ($ 4 7703, = & F705%)

ar
an

@ . =anay ... am
O ann

aip adiz * * * A4
az * * * din

@ —dai11an2 ... Ann

O ann

(] ®E@HH
@ = EPHI [ay] WEET <> = =07

*TF[ ilo e Qi &+ E[@TEJ A16(1) A26(2) -+ Ano(n) N B,

lFHHE)i%%F RIS (e g =IO ch Er gl
LI T 550, Fio s Flo(ny=n, ~MNotl— -, o(n-1)TfF] 7V

Bin, Bl plR=Vom-1)=n-1 . § > $MNotl~ -, o(r-2) T{=F|V

1E'rnfl‘/n 1, FH‘JJF,\HWTVG(I’Z—Z) =n—2. [MPEHEH 15 lfﬂ ‘Hi=o(i).
(L S AT, ¥\ BB, [ Bl S R

IF% iRl 1o e Qi & puzfif O J[ﬁlfﬂlﬁll o(i)fH[— .

iF;F lJafLHE PRI, T-p 82V L, Bl detlagl=aniaz ... am

CR (F R, SRS
@ f[Hi4, det(4")=det4
@ SFHEECIIA det(A)=detd , @ EFHEE A det(4") = detd



4-8 FEAAR D LA Nk
(4] |« b ¢ d a e i m
e f g h b f j n
Lo [ c g k o
m n o p d h I p
a b E E _ a b
det( y=det | _ _ | =ad-bc=ad-bc=det
c d c d c d
(R3] ()55 (48, 111} e,
(2)&[ [F= {EQ{I’ [~ FTJ B ’ﬁj?“ﬁfj%‘_’i{ ,chr I’E{?J %‘J I::IEKJ%[C
FrEed PR =Dl B 4alld U = F PRI SRR B RL

RE

(1 KD A=[a]. 4"=[b5). Jby=ay
HEHioe@n
bio(t) b2o@) -+ bromZFHHEEN = HT [T HEL bo1)1b61p2 b
(17101'b1abasb31bazbs i* ?%fg?@bmbszb%bmbzs)
=9t, sgno=sgn(c ).

.'.det(AT): > (SgnG)bm(l)... bnc(n)
SISTON

— -1
= 2 (sgn6 ) bs11y1- b1y
CE S

— -1
= 2 (580G ) ay511)+ Ayg iy
0 ESn

= > (sgn TC) a1n(1).-- Ann(n) (}{%]’J‘?UF[UO' r:,ﬁ[t"ﬂ')
TEGn

=det4

@ det( A )ZZ(sgn o) A1) - Ono(n) — Z(sgn o) a15(1) -+ Gno(n)

(e}
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©

= Z(sgn )alG(l)...am(n) = det4.

(e}

QFIO@NH.

[ & (75050 5k 232)

Stallii4, B, det(4B)=(detd)(detB)

(] . (O BRI B b s T 2 s
6.1

Sefn = 2R 2

l:a b} l:e f} l:a b} l:e f}
det( ) =det det
c d g h c d g h

Firge.2
P det(44")=(detd)’
@I%A FR T M, SRREdetd =11 (% A80%Y [1(H)])

ERYEE: (A7) 2 2@ )

@ F\nfE AR, [ldetd=0, =’ det(4 )= 1/detd .
@ Sl i, B, “det(4B)=det(BA) .
@ Sl 4, P, £ PR, [ldeqPAP)=detd .

(] (I)Ei"i:“jﬁ;[ﬁfj‘AB #BA, {[ldet(AB)=det(BA)*¥rY% .
(2) tr(AB) =tr(BA)* ¥f, [E iﬁlﬁfj’tr(AB) #(trd)(trB) .

(5] ® = 44'=1,
. det(4)det(4 ) =det/=1 (F12R16)
S detd=0, FEREIA T detd X H .



TG AR K

(@ det(AB) = detAdetB = detBdet4 = det(BA).

@ HIFI.
??@6&1
P E N SRR T R
@ det(4BA ")=detB, @ tr(4BA)=uB.
FHE6a.2 i sorvEinoNw)
Evaluate the determinant of 4~' where 4 =BCD, and

1 2 1 1 0 1 1 0 O
B=10 2 3|, C=1|-1 1 O0/|,D=|-=2 1 0

0 0 1 0o 3 2 5 2 5

Ans: —1/10

L (773 ek R B E )
Sl A
© AFTE RIS, TR Rk
@ AR FUGTER, [ POMVE B (homogenity)

® JAH VIR S, (G0, Pl ],

@ (== FIEHFFRS R IEICTE PR, FHETRUE IS Ry S 5
(additivity )

® *37(7)2 550, P FIFo i £50

® %1 IR, T im0

@ %) IS, B o 50

?ﬂ o S 9 1 £

© det(kA)=k"det4d =He if,“ﬂj{j Fl kdetd )

det(—4) = (-1)" det4 (F=de £ 27 TR —detd)

(alternating )



~A

F: 70

GLaFD|

O

a c¢ b a b
d [ e |=1|d e
g i h g h
ka kb kc a b
d e f |=k|d e
g h g h
a b c atkg btkh
d e f|=|d e
g h i g h
ata' bt+b' c+c' a b
d e f = |d
g h i g h
0 b ¢ a
0 e f|=0, b
0 h i 0
a e a I a
b f b e
pu— 0 ,
c g c¢ k i
d h d 1 a
a ka d 2a
b kb e | =0, d
c ke f 3a

ctki

f

i

2b

3b

g h i
d e f
a b ¢

a bk ¢
d ek f
g hk i
a btck

= |d etfk
g htik

a b

2c

3c




(ot d (1)= ZE L RSPl =2, HERLIISY. 1= A e prsf =
N, SR, Gl E‘\T’AA [ U= Rk, e IR,

det(rij(4))=—-detd ... @
det(ri®(4))=kdetd ... @
det(ri(4)=detd4 ... ®

A ﬂﬁfjﬂja RSB BT 3R TS
(D@.@ i il 51 et = 7~ U 71 st S
n-linear. [HPE e det™" ZFaEPIT.
(3)F< [T I T | TR J#ﬁﬁj_fﬁ s

@+® = @
@ = ©®
®+® = ®
= ®
OD+@+O = B
®+@® — ©
@+@ = ©®
(4)(5)“’?? KON,
(6)3f] Hidet(4-+B) # detd-+detB (% 80%¥ [1b])
(7)Ep J%'(i/[[Hoffman)ﬁlj SR ES Y LA Q),@,), @il
Frit
(] A
+ *F'?E'EH
RO 1Y g,
T2
ata' btb
FIH @]
ctc'  d+d'
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a b a b a b a b
Ans: -+ -+ +
c d ¢ d c d ¢ d
?7%;7.3 (T~ 845774])
%13 x3%ﬁ[§ﬁ]A,B, I3 ldetd =4, detB=5, Tf~det(24B).
Ans: 160.

??@7.4 (% 847¥E[[2])
F%?ZE‘?F—?:‘ 1 Fpv= f’%ﬁlﬁﬁialx-irbly:cl, ayctbyy=ca, asxtbsy=c; ﬁﬂ{ﬁj{;{ﬁ]#

a b1 C1
l[ﬁ{%ﬁ(p, q). T a2 by ¢ | =0
as b3 C3

R Y= R g oA 1)

?7%7.5 (7 180 7 [2)
Let 4, B be two nxn matrices. If n is odd and AB =— BA, prove that either 4 or B

is not invertible. (?FF-}I%: A RERS R R

B (A T )
ab b-c ca
(“] | b c-a a-b

c—a a-b b—c

(i) Fi=8 (77,2 59p7 81 )

(a—b)+H(b—c)t(c—a) b—c c—a 0 b—c c—a
= | (b—c)H(c—a)t(a-b) c—a ab | = |0 c—a a-b | =0
(c—a)yt(a-b)+(b—c) a-b b-—c 0 a—b b—c

TS 1



8

S
N
=N\

S CERLE S

RO YERL FE | 0 o 1| =0
o 1 0
’?’{@8.2
1 a btc

1 ¢ atb

s 3

a b ¢ d+e

a ¢ d eth

N —0
a d e btc

a e b ctd

g fy]: (FYEL A ERTEVER )
xt+b b b b

b x+tb b b

O b b xtb b

b b b xtb
@ (b by b1 1 L TR

det(x/+v ") = x" ' (x+b1+by+...+by).
® F% =[11 10 x bEVECEY,  TRE det(xl+b [1N)=x""(x+nb).

(] @ FE



~A

Fe i 775
xt4b x+4b x+4b x+4b
b x+b b b

= (EIp™ 57-)
b b x+b b

b b b x+b

b x+b b b
= (x+4b) (RN 2 P
b b x+b b
b b b x+b
1 1 1 1
0 x 0 O o o
= (x+4b) 0 o . (ﬁﬁ”vp b aT- ﬁ”gw—b[ﬁ)
X
0 0 0 «x
= (x+4b)x’

@ FHHOLEFIF. () F) FESELSn=434 )
® L@V H G, Fov=b1 .

??@9.1 (& A 813 [5120%)
I%CZ(Q, €2, oy ) '€ R™ IR 151, 1,0, 1) Y J=] a4 Twn > a=1.

@ det(M+1c)=? @ det(al+b))=? abeER.
??@9.2
I—x 2 3 4
. 1 2—x 3 4 . 5
il | ) i . Ans: (x—10)x
1 2 3 4—x

9.3
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1 2 n
n+1 n+2 2n

fin)=det
n(n-1)+1 nr-1)+2 ... n’

Find f(n) forn=1, 2, 3, ....
Ans:1,-2,0,0,0, ...

BRG] S EL A (EFpREn )

2 2
a bc c+ca

il a*+ab b ca

ab b*+be c?

L] PO (4R P20

a ¢ cta a c

=abc | atb b a =abc | atb b

b btc ¢

j
a -b 0
=2abc | atb =2abc - -
atb btc cta (-1 atb btc cta

1 1 0 1 0 0
=2ab*c’ 0 11 =2ab** | 0 0 1
atb btc cta atb —2a cta

(—1)4/r T*(—1)

=4a’h*c?

/‘rr'ﬁ]v} 'J“g(

2a+2b 2b+2c¢ 2c+2a




Fr R A5

??fg"@%.l

atb ¢ c
("R | a btc a Ans: 4abc

b b cta

??@9&2
a & btc-a
(W |6 b ctab Ans:(a-b)(b—c)(c—a)(a+b+c)
2

c c a+b—c

??@9&3

—2a atb atc
("R | bta 2b btc Ans: 4(atb)(b+c)(cta)

cta c¢ctb 2c

& (BREY)

;ﬁﬁ%—nﬁg_‘ﬁj IEE[A = [aij], n>1.

DA LI AF| 1 S 55 5 it o1 g, BB A A~ [
+ 4B (minor matrix, ﬁ‘} submatrix) .

@EF: cofpg(4)=(-1)""det(4pq) , HIERAIZY( p,q) T 4 F] 5% (cofactor).

[fIF ] RPN A Y - B (A I

+ -+

FIRg10.1



b

fd=lag]= | 2 3 4

CRE (ERFERSY)

ALl

@ detd= 2 ayjcofyd ; p=1,2, ... ,n.

j=1

@ detd = X aicofigd ; g=1,2, ...,n.
i=1

@ 2 agcofA=0;

j=1

k#p .

@ X aicofigld=0;

i=1

k#q .

a b ¢

(eri1 (1) | 4

Q
~

T @ cofi4,

Ans: Q) -7,

FEAL D A MM Nk

@COfng

@-12.

 ¥prl s BR )

( ®giFtars

i)




d e f
e d f d e
2)d +e [— ]+f =\|d e [f|=0
i g i g h
g h i

(B () + s

2 agjcofyjA=0opdetd ; kp=1,...,n

=1
% aix cofigd =ogdetd ; kg=1,...,n
=1
(2) B ST (S detd, [h)- T pd50.
(3) JF' J?;(ZI[INoble & Daniel)!'] 7+ RO EF SN

X [E] O
O AT B, LN IO i, dyas
pufy S0, ﬁ%ﬁﬂg‘ﬁﬁlakl,akz, v @[, PN IZ0 A BT 122 5TAY ]
AR [“[F“I*T/[J CER0.
@FHHOF!

B #5505 (3resls ki)
3 1 -2 4
-3 2

a

4
-2 4 1 3
2 2 4
CRATD &7l 1=, raipss | 3 pr, I py [ R s
Cifel] Rt 27
4 3 2 1 2 4 1 -2 4
304 1 3 (-1]4 1 3|+(=21]4 3 2/|+0
2 2 4 2 2 4 2 -2 4
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(2] | 3 1
1 4
2 4
0 2
11
= -1 12
2
11
- 2 12
1
(1)
(-2)
4
=(-2)
7 -17
-1
=(-2)4)
Fg12.1
1
2
ARSI, A=
4
1

S
Rt
NS
-

AL A AN i

4 0 -I11 7 2
2| 21 (3) 1 4 -3 2
3 J "l 12 s 7
4 0 2 2 4
2

7 (A 25T )
4
2 11 4 20

70= 2 12 7 17

2 1 0 0

(& F205Y = 1R

—(-8)(-18)=144 .

-1 2 3 |
2 0 2
1 -1 -1
2 3 0

Ans: 128



w750
2.2
2 3 4 6
20 9 6
el A | | , Ans: 232
0 I -1 1
??@12.3 (E-807¥E[[5])
I-A -1 1 -1 1 -1
-1 1-A -1 1 -1 1
. 1 -1 1-A -1 1 -1
! FE'ET -1 1 -1 1-A -1 1
1 -1 1 -1 1-A -1
-1 1 -1 1 -1 1A
(T : ST Y )
Ans:(—1) (6-1)
TR 124
Tdet [ 1-8 Jnxn Otz fLCH27H3:10 )

(R FIIREEE S 9% Gl T NS =350
Ans:(—1)"(1-n)

0 1 2 o ke IHEGR S
aijApq — Qiq Apj, 17PZ 74
Bl A= ay], Fap#0, 4] by= { 5 \
En . I=pE j=q.
Afnxn¥ B =[ by], 116 5pJII==57g 15, tHEn—1FE By,
H detd =(—1)"" apq ™ Pdet(B).

4-21
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(R 7 4 v 31 T it
&,
(QURFID B ]
a b ¢ d
e f g h
A= ’
i ij ok
p g r.s

1
#,a#0, [ detd=

a

-1
#1g7#0, | detd=—r
g

(] FTEMs 5B In=4, H(p.g)=(2.3) JpIJEM. - 1Y REE

a b c d
e [ g h 1
ijkl:g3
p g rs

ag—ce bg—cf 0
A
jgHf

pg-re qg-1f 0

1 e

(e}

ig—ke

af-be
aj—bi

aq-bp
ag—ce

ig—ke

pg—re

ag bg
e f
g Jjg
pPg 48
dg—ch
h
lg—kh
sg—rh

ag—ce
ak—ci

ar—cp
bg—f
Jjgkf
qg-rf

> L
TE 7R

ah—de
al—di

as—dp

dg—ch
lg—kh

sg—rh

S 2 AR, (EFP 120

fu

lg—kh

cg dg
g h
kg g
rg sg
| ag—ce bg—cf dg—ch
= E ig—ke  jg—kf
pg-re qg-1f

sg—rh
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§2. R R

TR &0 (P = SR
Tl Av=[ay],

p 5 =L

q 5 =
aij— o

ro o i=-1

0 ; He
s

Mdetd =g, detdr=¢"—pr . detds=¢’-2pqr.
@%n=3: det(4,)=qdet(4, 1) — prdet(4, 2)
(Rige] (1) ZESRiee ] 7 2 e S Fpo s £ % 2L (band matrix)
P BPORE, RO, BT E%*Eu%mﬁfﬂﬁt»::'
B (tridiagonal matrix)
() = A AL T R
B ;ﬁaﬁ‘[kﬂﬂﬂi%wmcmﬁﬁ”ﬂm

[i]
q
detd;=det[ ¢ ]=¢q, detd,=det =q—pr.

¥fn>3: det(4,) =



4-24

q r
p q r
p q r
det
P g

(EF- IR )

=q - det(4p1)—r + det

G- 7 [ )
= q det(4,1) — pr det(4n 2)

?ﬁlf&j 13.1 gE<8607%([7]10%)
Find det(4,) if 4,=[ a;j ] , where

1 nps

r

q r

p q r
p q

n—1[&

1 if i=j or i=j+1,

aij = -1 if l':jfl,

0  otherwise.

Ans: det(4,)=det(4, 1) +det(4,2) , det(4;)=1, det(42)=2 .
l?‘?ﬁﬁ@(ﬁﬁ [U7H 3k i recursive relationfi*

S
N
\Y
3

REC LR LERE =



FoofAA5 425

det(4,)=(1" J? ) (

Ids ™ (145
= =1

2

?’[‘fgﬁ_l?ﬁ 2 (5-85TE[[3]10%)
LD, e RUMERALS

f
2, if i=j,
Dy(iy) = -1, if |i—j| =1,
0, elsewhere.
(a) W't D

(b) & det(Dn) =2det(D, 1)-det(D, ;) for n>3.
(€) Do =[N
Ans: det(D,) = 1+n. det(D90)=101. #

’?’{@13.3: R84 = X[IDA 882D

nxn

Al I i1,
GRRE: R ESTE 2550, T SRS, PR A )

K HRE13.4
Shnx1[[Ela, b, Fdet(xl+ab). (HHT - RS )

Ans: X" (x=b"a)
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EP} 2% (Vandermonde 7 7%[)=4 )

2
1 X1 X1

2
1 X2 X2

2
1 xn X

t [F]) oo 3

n—1
X1

n—1
X2

n—1
Xn

— H(Xj —xi) .

1<)

FLBE ST, 1 I n=a LRI« (- AT 2 IS SRAT [ )

2 3
1 X1 X1 X1 1 0 0 0
2 3 2 3 .2
1 X2 X2 X2 1 X2 —X1 X2 —X2X1 X2 —X2 X1
2 3| 2 32
1 X3 X3 X3 1 X3 —X1 X3 —X3X1 X3 —X3 X]
2 3 2 3 .2
1 x4 x4 X4 1 X4—X1 X4 —X4X1 X4 —X4"X1
(—x1) 4/]
(—x1)
(—x1)
2 3 .2 2
X2 X1 X2 —XoX1 X2 —X2"X1 1 x x
_ 2 3.2 _ 1 2
= | x3—x1 x3—xx; 3 -x3 x| = (o) (o—x)(a—x1) X3 X3
2 3 2 2
X4 —X1 X4 —X4X] X4 —X4"X 1 x4 xa

(AT PR (S FRgma=:)
1 X3
= [(er=x1)(x3=x1)(xg—x1)] [(e3—x2) (x4—x2)]

1)C4

= [(e2—2x1) (x3=x1) (xa—x1)] [(x3—2) (xa—x2)] [x4—x3]

FIRg14.1




>
&

SRS =27

=
Sl

FFprdet |1 4 4 4 4

Ans: 288

FifE14.2

1 1 1 . 1
1 2 22 ... 2!

A1 30 3 L 3T =Aneh3h) . [(n-1)]
1 n . n"!

P43
a b ¢

N A GRS PENEEN
a3 b3 c3

Ans: abc(a—b)(b—c)(c—a)

T??%MA
1 x x 1 2 X 1 x x
o 3 2.3 4
@ |1y y @1 y vy @1 y
3 2 3 4
1 z z 1 z2 z 1 z z

Ans: D) (x—)(y—2)(z—x)(x+y+z)
@ () (-2)(z-x)(xptyz-+zx)
® () (-2)(zx) @ Y+ rxpryzzx)
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+ HIERES ) (Vandermonde = %[|=C iuag )

1 a & o 1 btctd beted+db  bed
1 b b b 1 c¢td+a cd+datac cda
® M A
1 ¢ ¢ ¢ 1 d+ta+tb datrabtbd dab
1 d d°> d° 1 atb+tc abtbctca abce
1 a & &
1 b v P )
@ @ ( D
1 ¢ ¢ ¢
1 d d* d°
1 atbtetd  d+b*+Hd? d+b++d?

atbtctd b Hd? AbrE+d? dtbitetd?

b Hd? PAb O atbtctrdt b O+

a+b++d® a+brcttdt b ++d? dC+bO+c+d®
(] @© (f (BT e (—a—b—c—d) I BT (5

1 —a bcted+bd bed | <(a)

1 —b cd+datac cda | <(b)

1 —c databtbd dab | <(c)

1 —d abtbctca abc | <(d)
a —-d* abctacd+abd abed

1 b —b* bedtbdatbac beda

abed | ¢ —c* cdatcabtcbd cdab

d —d* dab+dbctdea dabc



~A

yrw R 750

a —d
b b
c —C2
d —d

abctacd+abd
bed+bda+bac
cda+cab+cbd

dab+dbc+dca

(1} ST —(abc+bchrca’aerab)lﬁﬁﬁ[Ij g 05)

a -—a  —bcd
b —b —cda
e ¢ _dab
d -d& —abc
a -
I
) abcd | -
& -
1 a &
1b W
- 1 . 2
1 d &
@ pLt
I 1 1 1
a b c¢ d
aZ bt &
a v oL

1
1
1
1

(@)
()
()
<(d)

—abcd a

—bcda b

—cdab ¢

—dabc d

1
1

b b
cC C

d d

B {570 2tk LRl ae B ) .

t FfE14al

—a -1 a
b -1 b
< -1 ¢
& -1 d

GRIE TS

4-29



1 btc bc 1 a a
=0 |1 cta ca | =— |1 b b
1 atb ab 1 ¢ ¢
t FE14a.2
So S1 S22 83
S1 S22 S3 84
5
B osp=2x", R | S22 s3 Sa Ss
=1
S3 S4 S5 S¢
S4 S5 S¢ §7

2 3
1 X1 X1 X1

0 1 2x; 3x7

X [(E]) Ll SiEs,

2 3

1 X1 X1 X1
2

0 1 2X1 3X1
2 3

1 X2 X2 X2
2

2X2 3X2

0 1

2 3
1 X3 X3 X3

0 1 2x3 3x3°

+ IIENSY 2E (f%5) B[Vandermonde = 3|4 )

2n-1
xln

2n—1)x, ™

4
X1 )C1

3 4
4X1 SX1
4 5
X2 X2
3
4X2 SXQ
4 5
X3 X3

3 4
4X3 SX3

N

S4
S5
_ 2
se | = I1 (xyx)
1<igj<s
§7
S8
4
= I (=)
i<j
(2nx2n)

NS
v
-\\}
"W

Jn=3ELFIRIII (- AT RS ST R R )

M i
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(F BBV ey 1 EIGESTL, LIBT3 = 1 T
o, , IIEE14)

1 0 0 0 0 0
2 3 4
0 1 X1 X1 X1 X1
2 3 2 4 3 5 4
1 X—X1 X2 —X1X2 X2 —X2 X1 X2 —X2 X1 X2 —X2 X1
B 2 3 4.2 4 4.3
0 1 2)(2—)(1 3X2 —2X2X1 4)62 —3X2 X1 5X2 —4X2 X1
2 3 2 4 3 5 4
1 X3—X1 X3 —=X1X3 X3 —X3 X1 X3 —X3 X1 X3 —X3 X1
2 3 2 4 3
0 1 2X3—X1 3X3 —2X3X1 4)63 —3X3 X1 5X3 —4X3 X1
2 3 4
1 X1 X1 X1 X1
2 3 2 4 3 5 4
X—X1 X2 —X1X2 X2 —X2 X1 X2 —X2 X1 X2 —X2 X1
2 3 2 4 3
= 1 2)62—)C1 3)C2 —ZXle 4)C2 —3x2 X1 SXZ —4X2 X1
2 3 2 4 3 5 4
X3—=X1 X3 —X1X3 X3 —X3 X X3 —X3 X1 X3 —X3 X
2 3 2 4 3
1 2X3—X1 3)C3 —ZX3X1 4)C3 —3X3 X1 SX3 —4X3 X1
2 3 4
1 X1 X1 X1 X1
2 3 4
1 X2 X2 X2 X2 (—1)

=(xy—x1)(x3—x1) 1 2x—x; 3xzz—2x2x1 4x23 —2xzzx1 5x24—4xz3x1 A
1 X3 X32 )C33 )C34 (_1)

2 3 2 4 3
1 ZX3—X1 3X3 —2)63)61 4X3 —ZX3 X1 5)C3 —4X3 X1

2 3 4
1 X1 X1 X1 X1
2 3 4
1 X2 X2 X2 X2
= 0 25,22 3x 3w 4xt—4x,®
=(x2—x1)(x3—x1) XoX1 2x72x0x1 3x27-3x2x1 4xy —4x2 X

2 3 4
1 X3 X3 X3 X3

2 3 2 4 3
0 x3x1 2x37—2x3x1 3x37-3x3x1 4x; —4x37x
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1 X1 X12 x13 X14
1 X2 X22 )C23 X24
= (XQ—X1)2(X3—X1)2 0 1 2x, 3X22 4)C23
1 X3 X32 )C33 X34
0 1 2x  3x 4x

(B2 [0 1 FIGETL, LT BB O 1 )
Brat2i=, ... s Z/[Ii@_‘fﬁlm) ([@[gg) (%ﬁd,ﬂ)

1 X2 x22 Xz3 1)
3 3 1 2)62—)6 1 3x22—2x 2X1 4x 23—3)622)(?1 d
= (x2—x1)"(x3—x1) ) ;
1 X3 X3 X3 1)
1 2x 3—X1 3x 3 2—2x 3X1 4x 3 3—3)6 3 le

(BB D=L = ) (Pt

2 3
1 X2 X X2
2
" " 0 1 2X2 3X2
= (x2=x1) (x3—x1) ) \
1 X3 X3 X3

0 1 2x3  3x3’

(*%% (RUEERSITE R )

1 X3
= (r2=2x1) (r3—x1) (x3x2)*

1

= (1) (r3—x1) (3x2)*

IE & A=)
SEfnl i A=[ay)] -ﬁaij=cofjiA(=(—1)i+jdetAji)

P [ o KR APy + & # " 4E "L (classical adjoint), r::]'?‘ FhadjA.
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€20 NONIES l":"[%?i’%ﬁﬁﬁflﬂﬁ%A*Efﬂrﬁ% ESRIES
(2) adj(kAd)=k""adj4 .
(3) adj(4")=(adj4)" .
(4) adj(0)=0.

[E7 3] - - - -
ail aprp aiz COf1 1A Csz]A C0f31A
jEl[A = ary dazx A3 R Elljad_]A = COf12A CszzA C0f32A
as|y dszp dsz COf13A COf23A C0f33A

??@16.1 (0 A8STYE[[11]) [ i ]
(1) *n¥ilfid, f{l4 - adjd=2 (2%)

1 2
(2)4= |0 1 , fladid=2  (1%)
0 1

N — O

1 4 2
Ans: (2) |0 2 -1
0 -1 1
#
R Ol et P po S50 2R )
F%AAERHXH, E[”
@ A(adjd) = (adjd)4 = (detA)],
© @Af' < detd#0
4= adj4 (S 2 24

det4

[FIF) (1) AT < detd=0.
(2) A < adjd i’ .
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(3) FIP R 2 S oRA Y S R S RN TR
R A g A, (R .

-1

a b 1 d -b
4) =

c d ad-bc | — a
(5) det(adjd)=(det4)"" . (% *807%" [1(©)])

t(6) F A7, | adjd=(detd)d ™",
T(7) FAf i, Hl adj(4 =(detd) 4,
T(8) FAf L, [ adj(adjd)=(detd)™ 4.
X(9) EHT@T 27" s P detd A L1, 47 € 2"
[RIATE 7 fTRL S
(&1 ©4=[ai], adid=[oy], A(adjd)=[ci]
EJUcik: ZOLijOij: Zaijcofij = 0 ixdet4 (:\f:fﬂll@)
] ]
L eik] = (detd) 1,

FIEfE : (adjd)d=(detd)]

@(f 1983 [1])
[ = 1JIEE 6a V7Y
[ <= ¥ detd 0, [ #

1 1
A [ adj4 ] = [ adj4 ] A=1,
detd detd
1

CARER, SAT = adjA .

det4

FE1T.1
A foli(3).  (hint: EEN170, EE6, RIFU2))
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Y172
SO 0 PR i, A
10 -1 0 o0 1
A=10 1 0 Ans: 0O 1 o0
o0 0 10 1

HIR17.3 [RZ %ﬁ%@]m%@j [11fe)
(f) 4 is invertible if and only if A’ is invertible.
(g) A°=0 if and only if det4=0.
Ans: (f) True, (g) False.

K] =3: (Cramer's rule)
.3 :pﬁ R

anxitaixyt... + aixn=b

aixitayxyt... + apx,=b,

AniX1+tamxot... + apxn=by

el giyfpg[;ﬁ],?f/“fkj £50, FI[f [F:tﬁg*” J‘ A I

1 n 1
X = 2 breofigd = ——— [APYSY = BV R RS S,
detd k=1 det4
j=12,...n.

[rEk] ()P ]Crameri® EIIJEJZPB?E’”* j\fJBwLﬁf[j
()R Bl JT= 4 AR
(b) (R = 5]J=8 2 1 50, — E1ERO, Rk fflE .
@@%ﬁ%ﬂylwfw G SR, Py
Q)= 7 AR, - BRI B T )
H|Crameri H| E[JJEﬁ L n =30 ﬁ EOlESES



4-36

o anxitaix,=b, e
(H571 (1) I L
axx1+axx,=b;
by an an b
by an ay by
X1= ) X2—
ail  dapn aip an
ar dn azy an
anxitaixytazxs=b,
Ay Ay A3
(2) § aaxitanxatanxs=by V2 FHEEL xi=—, Xo= —, x3= —.
A
azixitasxytasxs=bs
ayn  ap  an by apn ap
EHIA= | ay an axn | #0,A1= | by an ax
a1 ax  ay by axn as
an b ap an ap by
Ar=lan by ax |, Asz=|an an b
a1 by as a1 axn b
[55] qlosenz 3))
X1 b]
AY _ — _ ’ CA—
= [ | e | D] adiatan ), g
Xn by
1 1
x=A b= [oyk ] [k ] (=30 )]
det4
1 n 1 n
CXjgs T Z Otjkbkzi Z bk COfij
detd k=1 detd =1
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K AP 7 REDV PR 150 Y R AL 353
T, (L)

T OPEI81 (R L] 18b)

KSR =515: (Cramer's rulefiue =)
Use Cramer's rule to solve the following system of linear equations;
3x+2y+4z=1
2x —yt+z=0
x+2y+3z=1

(no credit without using Cramer's rule).

3 2 4
L] A= |2 1 1| = -5#0, 7| ¢pt- i,

12

12 4 301 4 3002 1

0 -1 1 2 0 1 2 -1 0

12 3 113 12 1
X = 7y: :Z: )

A A A

Hiw=-1/5, y=0, z=2/5.

18,1

X1—X2 +X3 =0
H]Cramer's rulef § xi+2x-x3=1.

X1—XQ+2X3:O
Ans: X1= 1/3, X2 = 1/3, X3:O

’F"ﬂf&leaQ (FIVEI86 = [2])

Solve the following equations using determinants:
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3y+2x=z+1
3x+2z=8-5y
3z—1=x-2y
Ans: x=3,y=-1,z=2 #
?’,‘E@ 18a.3
xX1+x-3x3+x4=1
2x1+tx+2x4=0
H|Cramer's ruleif <

X2—6X3—X4:5

3x1txtxs=1

Ans: X1:—2, )C2:10, )C3:4/3, X4= -3.

KIS 2R (Cramer's ruleflV/fle! |-- 2=V AUEE) #8767 21114895 [3])
’-l‘li[_Lﬂ Jﬁlglﬁlg‘rxbx% e 5 Xny K : Lgﬁgryl:yb 9yn 5

DTG fn- LR TR 2R f () B ()=, 1<i=n.

(] 4 f@rartaw+an.Fan ™, TRV H,
aptxiaitx a2+ Ax an—l =

2 1
aptxatxy art. A" an 1=
<

2 1
avtxna+xy art..x,"

an-1"Vn
Pl ao, ar, ao, any B, 5000 RS Y R £
Vandermonde = ¥[|=Y, E it} H (x—=xi) ( EHf4)

C X, g, e, xafERE, L BT RS
FliCramer's rule f 15r7f

5 P N o YN
[#8eao, a, az, ...an ¥ 5 E-

t ’F‘?fg"@:le.l (b A 8ITERI[S])(f 18157 [2])

Let #1, t,..., t; be distinct real numbers; let b1, by,

., brand b{', b,',..., b, be real
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numbers. Prove that there exits precisely one polynomial P of degree less than
or equal to 2r—1 such that P(t;))=b; and P'(t;)=b;' for 1< i <r, where P' denotes
the derivative of P.

G [ HLLY 20 1] L 14b)

FIRE:18b.2

%la, by, bi,..., b€ R, FRPH i BRE— pr v Y (%), IEI
f(a)=bo, f'(a)=b;,[f"(a)=b,, ....., f(r)(a)—br

& TR EN T ity

@ r%?Af bmx (m+n) L, BEbnx (m+n) i, Fl

A B
det =(=1)™ det CHLTHR +Jf§%f>>
B A

@' %Ct Y(mAn)xm3FiHl, DEL(m+n)xn¥fififi, F]
det |C |D| =(1ydet |D |C (AR E)
®@ F%?Af’gmx(van)?ﬁ[@ Btr’bnx(m-kn)jiﬁﬁﬁl KELmlE [, Fl

KA A

det = detK det

(LTI = 5%)
B
@' R CEY ) xmSH, DEmtn)xn i, KELml .

det |CK | D | = detKdet | C | D <<’£FJ;{J<1??%>>

© I%AF fran b, Fl
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[4 B } {1 AIB}
det = detd det CHWHPRIFR == )
C D C D

@ EARLi I, B

A B 1 B
det |: } = detA4 det |: } (iF;}{J\ﬁ}EL'GF[WQ»
C D cA' D

) %At bmxp¥IE, CELnxp I, KEGnxmifil, [l

4 B A B '
det | —— | =det CIRLT[I==11)
C D C+KA D+KB

@ F%AF Emxp i, BELmxq i, HEypxg i, [l

B A
=det
D C

[fora] (1) F R P fi ., G P s f Uil 5 11,

Eﬁﬁﬁ lglﬂ&?&jﬂf FL% = E,%ﬂfr“gnj

(2) “IIj] J}*TEEJ PR S PR Wl g S R
“HpT ‘iﬁf”ﬁﬂj U SE PR PR RN S R

(3) # R I H &Eﬁﬁﬁ NRRLAMRA Y S VI

4) = T . R RERVREE ALY FipogEs o
?ﬂp [H. @ % xj@écmﬁ‘*ﬁ [13a% CH3& |28 43T,

(S)I HU 2RI | ) IR BT B e, 19

AK
det { } THHLTK. det {1@4 B} TR K
B

B+AH
(BT e

D+CH

e B [5ET
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A B , A B+HA |
det N det i vt
C+AK D+BK C D+HC
A+B A B
det “He [TEL det +det
c TH c :

[5]) @ Afuid & T H==BpuyT- [J LS| N ffl%‘ P B
n&i@}n'_"‘?j‘%-fiﬂ‘]lﬂgﬁ~ = 1R ] N S N
i SRR B A i VS Y SR RERAR T [y b 7U7U?w
=

N BRART PR Epam. W S L S IR D)™
KA K O A
@ = (CH2EZE!R)
B o I B
KA K O
.det =det
B o I

U S PR MO e IR T detk.

@%@,

@™ ST IR [ R
A B In O\ |4 B
C+KA  D+KB K Lyj|c¢ D

@' I E S A

A  B+AH A B I H
C D+CH C D o 1

EUERHN T P IR F IR
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S

‘:1.
N
=
W

S CEARE S

e
.g
S

9.1
F%A, B, CoiIF(p+q+r)xp, p+q+71r)xq, (p+q+r)xr
ST B detf4 | B| CT [~ det[4 | C | B U3,
Ans: Jiel HpR ()T

19,2
AL, DRLAIT I, = AT, 3
4 B 4 7 4 O
det =det =det
¢ D o 7 22 2?
Ans: det , det
O D-CA'B C D-CA'B

B8] RS (e SR )  (es [ a3 [8)
I%A Ebmxm I, BEEmxn (61, CE nxmifl, DESnxn i, H[l

A B A O
(Ddet = (det4)(detD) @det = (det4)(detD)
O D cC D

[RIFY ()% ey ™ F PR ) 2 S 5150,
(2)F m=n, [[[F CEEL T [ Hidet(4D) ¥ det(DA).

4 O
(3)det — (detd)(detB) .
O B

(@ EE T FRORINT S BRI, LR
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T [&] -
A B I O A B
@ = , (CH27EER)
O D O D O 1
A B I O A B
. det =det det (CH472£16)
O D O D O 1
Y= =T T Yl 8T Fl, ., E R SR [ R detD.
G (TR = Nl = E 5 M) | R g gl ks T
EidetA.
A O A O (0]
@ f—
cC D o I cC D
B H HOF 1 R,
??@20.1
A kL X
0 Ay ... X
i det = (detd;)(detd,) ... (detdy)
0 O ... Ay

14y, Ao, o ,AERCR SRS ) [
+ FRE20.2
I%Afomxn%ﬁ[fﬁl BE mxm i, CEhnxn¥Eit, DELnxmifili, [l

O B A4 B
(Ddet —(-1)™(detC)(detB) (@det —(~1)™(detC)(detB)
C D c o



4-44 T SFESMME R

59
4

T (R )
W xS, XtGmxn I, Y Smom I, Z8mxn I, )

I, X
(D det =det(Z-YX)
Y Z
w X
@) det =det(W-XY)
Y I,
w X
® * Wi i, ] det =detW det(Z-Y. wlx ) (5 84543} [4]b)
Y Z
w X
@ F\zZpsn, [l det =detZ det(W-XZ'Y)
Y V4

WX
® Fm=n, Wi's¥, 2 WY=YW, H|| det =det(WZ-YX)
Y Z

[P (1) O 2 20 PR s det(Z-XY),
@F T FEY det(F-YX),
(2) ®pu A F Rl R R A, FE AR

(] @ FIIP BHSBEET, RO 8T (% oe-yop ™ 532 5[
In X In O |In X
y z| |y L||o zw

AR 2, B 86 202,
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@ (FII B P02 BT R U 5= 3] Fe=Xop ™ 57~ )

WX I X w-Xy O
Y ]1’1 O ]n Y Il’l

ARV, 206 L2205,
@@F|" L 19% F ERDO@HH.
®" % LE@ANH.

t ’?’[‘@21.1 (I T84 [2])
Let 4,B,C,D be nxn matrices and / be nxn identity matrix with 4 invertible.

(a) Find matrices X and Y to produce the block LU factorization

and then show that

A B
det =det(4) det(D — CA'B).
C D
A B
(b) Show that if AC=CA, then det =det(4D — CB).
C D

t ?{@21.2 (711837 FUR] 2 [4])
Let B be the bordered square matrix

where U is a column vector, V' is a row vector and ¢ is a number. What is det(B) ?
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2 2

12 3|

FFA: e RIS

Ans: c#0 [ (45 cdet(A—c'UV), (5 det(cA-UV)/(c™")
(ﬁiﬁ%wﬁlilzaﬁz‘\“ﬁéﬁﬁiiﬁ))

TR CIRUPNEE [ El@}‘%ﬁ}}
F%Xt’;,mxn%ﬁ[iﬁ] Y nxm3EIl, Pl det(In—XY)=det(/,~YX)
[F] 1= B L A

(]

FIR PR 1O HH HIEDER fﬂfjf’\ det

In X

Y L

HiRE22.1 qleooesve)
Let F be an nxm and G be an mxn matrix, respectively. Prove that

det(/,+FG)=det(In+GF), where [ is the identity matrix.

2FL’[‘%_T22.2 (79570
Let A,B be nxn matrices over (C, show that /-4B is invertible if and only if

[-BA is invertible. (3 'it “J%ﬂ*j@CHMﬁ [711)

BT CIRLTEE T pu ™)

A4 B
Efnxn¥tilfi4,B, FH¥ det = det(A+B)det(4-B)
B 4

(765 TT5(2)

(2]
I o|| 4 B ]
= (%= I 23510
B 4 I 1| |4+B 4+B
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I O A-B B I O
= (B ST 5 )
-1 I O A+B I 1
A B I O A-B B I O
..det =det det det
B 4 -1 1 O A+B I I
A-B B B
=det (53—, = W=V
O A+B
=det(4-B)det(4+B) (E2120)
7ul N JOREHS det((4-B)(A+B)) (EFH6)

’g " AB=BA Eaf] B W det(4-B7) .



